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3 gasl) Q\J#SM

ol

2% — 9 — 402 — )+ 3x°

7> — 8 + 5x + T — 9’

3x— 3x° — 3(5x2 + 9x2) + 4x

32 + 8x%) + 4x% — 8x — 8x°

3(x— 4x) + 8% + x>+ 3x°

Aagull NGBS

3(8x3 — 9x2) — 2% + dx + dx

4(4x° + 2x) — dx + x + 8x

2(5x + 9x2) —3x% — 7% + 8

8x° — x — 8% — 3(8x+ 9x)

3(3x3 — Ox)+ 5x+ 8x + 4x°
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aEnss

3 gasl) Q\J#SM

ol

2% — 9 — 42 — %)+ 3x?
—13%° + 5¢°

Tt — 8¢ + Sx+ X — x>
—17x> + 1452 + 5x

3x = 3% = 3(5x% + 9xP) + 4x?
—3x> — 38%% + 3x

3(2%° + 8x%) + 4x — 8x — 8&°
—2x> + 287 — 8x

3(x — 4x) + 8> + x> + 3x°
12 — 9x

Al

3(8x° — 9x?) — 207 + 4 + 4x

225> — 27 + 8x

4(4x° + 2x) — dx + x + 8

16x% + 13x

2(5x + 9x%) — 3x% — Tx% + 8x

8x% + 18x

8x° — x — 8% — 3(8x+ 9x)

—52x

3(3x° — Ox) + 5x + 8x + 453
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